JEGS Universal Wishbone Locator #64092

Kit Contents:

e (2)30” Wishbone Tubes

e (2) 6” Front Tubes

e (1) 6” Outer Slide Tube

e (1) 9” Inner Slide Tube

e (3) RodEnds-3/4"(P/N 555-64107)
e (3) Jam nuts—3/4" (P/N 555-82716)
e (3) 3/4”x2.25” Bolts

e (3) 3/4-16 Nylock Nuts

e (4) Chassis Mounting Tabs

e (2) Axle Mounting Tabs

e (12) Gussets ( P/N 555-640110)

The JEGS Universal Wishbone Locator is designed to work with Ladder Bar or 4-Link Suspension systems,
since this item is Universal it will require cutting and welding during assembly. The Diagram on the next
Page Shows the General Layout of the Wishbone Locator.

To determine the length of the Wishbone Tubes, Tack weld the mounting tabs into place on both the
chassis and center of the rear axle housing. Thread the rod ends into the front tubes and inner slide tube
at least 1-1/2” with jam nuts installed; now position these in their intended locations.

Position the inner slide tube inside the outer slide tube and install in the rear axle housing; once this
basic assembly is completed you should be able to determine the length and angle of the wishbone
tubes. Ensure the Inner Slide Tube is centered in the outer Slide tube before Measuring or cutting the
wishbone tubes.

Once the Length and angle of the wishbone tubes is determined tack weld the wishbone locator
together and reinstall it in the car to verify proper fitment and clearance. If Fitment and Clearance are
acceptable, Finish Welding the Tubes and brackets with the provided Gussets.

JEDLS

SELECTION * VALUE * SUPPORT



4X GUSSETS 2X CHASSIS TABS

3/4-16 GRADE 8 HHCS

FRONT TUBE

3/4-16, 3/4 HOLE
ROD END

WISHBONE TUBE

3/4-16 GRADE 8 NUT

INNER SLIDE TUBE

OUTER SLIDE TUBE
FRONT OF VEHICLE

4X GUSSETS

2X AXLE TABS



